
Adventure Tokens

19Using multiplication and division to solve rate problems

4.   Tessa’s cousin Chloe has 50 tokens, and she only wants to go on the river ride
and the bumper boats.  How many times could she go on each to use all her
tokens?

5. Make up two problems using Adventure Park tokens for a classmate to solve.

You need a classmate

Activity
Naraini is at Adventure Park with some of her friends.  They have all bought tokens
to use on rides.

Adventure Park Prices

Merry-go-round
4 tokens

Mega Swing

5 tokens

Wild River Ride
6 tokens

Bumper Boats

7 tokens

Dodgems

7 tokens

Loop-de-loop Roller

Coaster

8 tokens

1. a. Naraini uses one-third of her tokens having 6 rides on the roller coaster.
How many tokens does she have left?

b. What could she ride on to use up all her remaining tokens exactly?

2. Karika wants to go on all the rides 3 times.  How many tokens will he need?

3.   Tessa, Karl, and Rangi use 126 tokens altogether on the dodgems.  They each
have the same number of rides.  How many rides do they have each?

You could use multiplication or division for this one.




